AR R BT A

BHEBERR
(RGBT —— ERT RAEE) R B (77]5)
EriEtT A0 - EEEEGT =) AR E]

ey ek - 2788 EACHI 1 20154E 9 4H

KL T2 AT E B TR LI BT AR (28 S K G AR Alag s L g A)) ( (_LiTmogR)) ) 55 13.25A (5T Fit17EeE » LREZ AL -
KL T8 TAREIER 7T IRAE (LAY 75 10.06(4)(@) AT FLHERE » RIRREEZE N A5 -
et ¢ EiRE{E 0.01 T HiEkE

l.

L TR F—(EEEEY TR

TR L HRARA 2 TR FhETE n R gntin
HR{B §§Z E }E%‘E%??%ZIKE‘%H: (%‘I 1 & 7) Héi&g{g Tﬁuﬁhﬁﬁ’f%f}ﬂﬂ%(gﬁtt)
E4-657) " "

GE6R7)

7B H SHBRAAHF ST
Gt 2) 824,390,000

20154E 9 H 2 [
(Gac)

17 2015 4% 8 H 26 HIJEIE
ARSI 250,000
1/s 2015 4% 8 H 27 HJEIE
R SR 250,000
1/ 2015 4% 8 1 28 HIJEIE

MR SR 1y 402,000
17 2015 4% 8 H 31 HIJEIHIE
E T Lo

i/ 20154 9 H 1 HJ&mE
MRS R

17 2015 4% 9 H 2 FJ&IalH
RS IR

334,000

400,000

244,000




BAHR R BT A

1% 20154 9 [ 4 Hglal{E
el AL SHEI R 7y

320,000 0.0388%

A A H HASE R 45 1
(3 8)
201549 H 4 H

824,390,000

1.

2.

3.

B

ERR T LI — TR TIH R T » JRLE LT NI IR TIH -
FHELIRIE (L THIRY) 55 \3.25A (TR L—17 T EHREERZ ) BoRIE (LLTHRY)) 55 13.25B (EHIZAT L—17 ' H#E ) (LEREEBHE) 197 Y -
ATV AANRE (LLTHAY) 5 13.25A (RIEEENTERITHA ) - 2B HIA R THHY o LR RS - e T B - & T LR T ALy " A

HZ ) PIHTE R » BIRT - 2 K IRIEF]— R (T I = 1 T T LR (7 T B 2 X FRAE ] — ] BR AR AR T TR R T X THIIR )~ AR RS ET . 1 /7— 7
BE o 207 ELARIE R (7 FIRE T 211 T IR F I B R PR ] A SR 2 T THR AT AE T THI R T+ RIS IE 57 G e T 5 -

EETE L TRITN E R THRAZEBIIE 7 EERF - 17U L TR TAE R AL AR F— e i E AT E BT TRAHEAR (FLUE H A9/ 571 E7% A% [0 208 1] H 1 Rt 350

1)+ i B B EZ BT A ) 2 B A REERRZR ) NIRRT -

AR

HLLTFTRITABIR G EFEE - A | LTS AR ) JEEERER | R (Fa e B BT E 5 H B AT ) -

» BITRG EERER ARG R
T ERITRIEHIR G R TR A R TR E L ) [EERER T EREIEIR 7 1 B IR (7 i B T B B R TR

KR LT -

 TRITRG ) EERER TR R
»  ERTROEERIR G Z TR A CR TR A E L [EEERER | EAEIEIR 15 AR (A EFT Y5 A R TR E
v ERBTIE ) EEES R

HREEE T Y 7518 —

A BB T A -



B R BT A

A HEEES
e IEEE A BEET SR ERS B B ot
-~ D) RS OT) (%) (5%)
4/9/2015 320,000 il 0.87 &T 0.86 7T AETT 277,194.29
&t 320,000 T 277,194.29
B. DB B S — AT AR
1 AENESEBIL (GEERZEER) 1EE5 5 a2 s A (2)5,588,000
D I DA R 5 TR B (A 2B B S TR A E 4 0.6751%
b
((a) x 100)
827,778,000

HAPIERR, > ESCABD TIN5 P TR [BLEARSE (ERRAL) HUARE#ETT ﬁﬁiiﬁi%ﬁﬂﬁﬁmﬁiﬁ%wﬁﬁﬁ%ﬂ#%ﬁ 2T Al fr B KB
B o FAVRHERE - AR 55— R X S ATHE TR S E) - BARRE A R EZ S S P AR Ay FH AR A

\| BBEERE - it e ARG ~ 25— RKag 2 K 37 GG EH8) » LA LT B, Z B T FAETT -

EXHE_BTFIE
(4E:#2)

Bkt © _ A EIRAE
(EE -~ WERAMETEAZENIAS)




